Tuesday 10.9.2024

Pre - test 1b
Maths 1B, Revisi (factorisati identiti j t )
evision actorisation, 1dentities, expansion, roots ...
Problem 1 Simplify the following expression [ /8marks]
1) V50 + /18 =| 82 V50X VIS 30 _
) 3) 10\/§ 30 _
V50 52 T3 2+v2)2+(2-v2)?  4-2
S v ARk 4) 5 =[]
Problem 2 Solving quadratic equations [ / 6 marks |

A] by the method of 'completing the square’

1) (x—l—%)2—§—28:0 :(x—l—%)zz%:(x—l—%):i %:> Tr= _3;“1 = —Tor4

2) o (a42) 1] =0 = (#4+3)?=2

16 = x:—%i%:sz{_zl;%}

B| using the discriminant ( AorD....) A=5b?—4ac

1) A=9+4112>0 = twosolutions: =z= 732\/@
2) A=9+16 = twosolutions: ‘,E:*?)ﬂz\/ﬁ:___
Problem 3 Solve the following logarithmic equations [ / 12 marks |

1) 2logg(z —1)=4=(x—1)=3*> =|xr=10, S={10}

2) logs(x —4)+logg(x+4)=2 = (x —4)(x +4)=3* = |S={5}

3) logg((z—2))=1=(r—-2°=9"=2-2=43 = |S={5}

8x

4) logs(8z)—logy(x—T7)=2 = =42 =ax=2(x-T7) |S={14}

x—7

5) logh(z) —4loga(z) +3=0 = loga(z)=1or3 [S={2,8}

6) logy(2? —5r+10)=2=2> -5+ 10=2*=| S ={2,3}




